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QUESTION 1

A customer ran a Job on 2 BM.HPC2.36, and the job took 4 hours using 32 cores of each node. They later ran on 4
nodes and the Job took 3 hours. What Is the efficiency gained?

A. 100%
B. 50%
C. 66%
D. 75%

Correct Answer: B

QUESTION 2

Which Is a common business problem for customers running Big Data workloads?
A. Costs associated to process a large scale data set

B. Cost associated with Disaster Recovery for large deployments

C. Ability to process a small data set at the minimum cost as possible

D. Ability to process a large data set at the maximum cost as possible

Correct Answer: A

QUESTION 3

A Linux visualization instance Is in a public subnet with security list 0.0-0.0/0 for TCP port 22. What other rule do you
absolutely need to be able to connect remotely?

A. Open all protocols for your specific IP address.

B. Create a Stateless Egress rule for port 22

C. Open TCP ports 5900 to 5910 for 0.0.0.0/0.

D. No other additional rules are needed. It is possible to connect as is.

Correct Answer: C

QUESTION 4

You are running a cluster using multiple BM.Standard2.52 machines. The model is on a NFS share running on block
volume- You\\'ve tried doubling the number of machines but It\\'s not running any faster.

170-1089-20 VCE Dumps | 120-1089-20 Practice Test | 120-1089-20 Braindumps 2/3


https://www.passapply.com/1z0-1089-20.html
https://www.passapply.com/1z0-1089-20.html
https://www.passapply.com/1z0-1089-20.html

VCE & PDF https://www.passapply.com/1z0-1089-20.html
2024 Latest passapply 120-1089-20 PDF and VCE dumps Download
PassApply.com

Which two actions could potentially speed up this tightly coupled workload?
A. Switch to FSS for your file system.

B. Use Cluster Networking.

C. Use BM.HPC2.36.

D. Switch to ESS mode.

Correct Answer: D

QUESTION 5

What are two different types of Storage offerings available to build a filesystem on Oracle Cloud infrastructure (OCI)?
A. Block Volume Service

B. Local NVMe SSDs on DenselO and HPC compute shapes

C. File Storage

D. Object Storage

Correct Answer: D
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